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Identify and evalua’ unctions and state their domains 11 G
S* :the domain of the function A Jlaall s
h(x) = V10 — x2. h(x) = V10 — x2
a (_m’ w) O
o (—o,—V10) U (V10,) @)

~

- (—/10,V/10) O

d. |—\ﬁ,\ﬁ| O

https://t.me/+CbbW8n6Up6US50GES




"= 2023 -2022 - Joll Juodll &lgi jlisl - 2oy Sluslyl - padiall jluall - pie galal casall -A BoEC |° 2-25 o [ | 11837
https://t.me/+CbbW8n6Up6U50GES *
The probability of the results of a spin R Al S g @il JladaY a5 b L ;.13 e

on a spi=ner is shown. wlhat is the Thaaly 3 gal dad il Aadll 1 gl
expr ed value of one spin?

Value | Probability Jleayl | & )

2 | 015 0.15 2

4 0.20 0.20 4

6 0.20 0.20 6

10 0.30 0.30 10
e o
o 6,00 o
7.50 o

+ 8.25 O
https://t.me/+CbbW8n6Up6U50GES i
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Which of the following represents thr Al b Sl Jia L Las ‘.:.;i G

grapbk . f(x) = G)x? flx) = %}x

I ly
b ::.__ O ;- O
\
HEA a
https://t.me/+CbbW8n6Up6US0GES




= 2023 -2022 - ol Junill dilgi ;L3 - pyy ladlyyll - paiiall slusall - e (golall cisall -A B & ES |° 3-25 @ [

118:23

o == https://t.me/+CbbW8n6Uppy)5OGES -
— O X G
\
1Y
vy
[/
- P 1o X. e
A Yy
A\
d | - "}:(: O
I
I
K

https://t.me/+CbbW8n6Up6U50GES8 e




= 2023 -2022 - JoVl Juadll &lgi jlisl - 2oy 31 Sludlyl - pasiall jluall - sie @a3ladl ciwall -A BoEHCC o 4-25 ° | 11659
https://t.me/+CbbW8n6Up6U50GES

Use limits to deterr  : the continuity of a function 1 G

Wb’ | function has jump 1 Juaiil g b 4 d

scontinuity?

2_49

L f@ = o

b f(x) = x5 —x? O

f)= 3 iiff ! ; (()) O

Y IE ST O
https://t.me/+CbbW8n6Up6U50GES ﬂ
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Perform operations .h functions 1 G
3

Giv .that f(x) = ::-and g(x)= o g(x) = % 3 f(x) =Z o sk
find (é) (x). (i) (x) sl
AT
3 (E) (x . 5 O
f . g
(g) (x) = f—z' O
Ay =
| G O
o\, 12
(G ®=5 2
https://t.me/+CbbW8n6Up6U50GES ﬂ
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Find intervals on w' . functions are increasing, constant, or decreasing 1 e

Use e graph of the function ’ Al Gl alay Allall Gl J50 aadsl

¢ 4 the intervals of increasing.

PR 11 fx<—2
fla = {O.Sx2—4v F2if x>0

. (0’4)1 (4lr ’ O

https/7€:me/chbW8n6Up6USOGES o) ﬁ
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(0

[ 25x- 11 ifx < —2
{ﬂﬂ" {0.5 —4x +2if x>0

(0,4), (4, ) .
o (—o0,—2), (4, ®) .
¢ (=2,0) .
« (0,4) -

https://t.me/+CbbW8n6Up6US50GES
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Find compositions - Jnctions 1 e

G athat f(x) =2+ x*and gx)==x* f(x)=2+x* dsai

g(x) = —x?,find [f © g](x). [f ° g](x) 224
> [feogllx =|x—4] 0O
[feglx)=2+x° 0O
[fegl(x -=(4+4x* +x°) 0O
4 [foglx)=2—2%+x* O

m
https://t.me/+CbbW8n6Up6US50GES .
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se4+4 BONUS ***** 1" sinusoidal functions to solve problems 1 G
Wri* 4 sinusoidal function wit* ae dacdly 3y9all aladinl dusr Wiy CiS)
_ .en period and amplitude that Blanall ALy G puisaaal)
passes through the given point. 27T 154l
period: 27 1 :dad)
amplitude: 1 (%,-;-):ihim

point: g
o3

1 .
y =5 sinx O
o. Y = sin(x) O
y = cos2x O
¢ y=cos(x) O
https://t.me/+CbbW8n6Up6U50GES ﬂ
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Solve right triangle

Finc" .1e value of cos @ if@ is * .
zasure of the smallest angle in a right

triangle with sides 3 4, 5.

U

|

| w

= |
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Construct and use 7 Jbability distribution 1 G

I¢ (ify the continuous random variable. Jaaiall il gdo” yadall daa
L (B il 0
the numt ¢ of residents of a town

g 230l da

the temperature outside

hpd\uié!h» N as

L - O
the nur Ler of fish in the ocean
Alal) A Aasdiiaal) il ggd) o8 ) 330
]
the number of usable phone numbers in the world O
https://t.me/+CbbW8n6Up6U50GES ﬂ
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Solve problems inv-  ng exponential growth and decay 1 G

Find .e balance in an account - .ne a3 13) eb“-‘ 8 ngg © ayll aagl
r .of 8yearsif AED 6,000 is

A€ s dalpa Jana L)
invested at an interest rate of 4.2 % i *AED 6,000

that is compounded continuously. 4.2 % iy Sy

* AED 8,339 0o
> AED 8,263 0
AED 8,257 O

d AED 8,396 O

https://t.me/+CbbW8n6Up6US50GES
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""" BONUS *****F ore symmetries of graphs, and identify even and odd functions 1 G

If tk  graph of a function is s* metric C_;i Y saall e Silaia Al L7 Sl
" .n respect to the y-axis, which of Thuaa 008 waa i laa

the following must be true?

» f(x) = [f(x)] O

o f(x) =—f(x) O

< f(x) = f(—x) o)

1
d. f(x) = m O
https://t.me/+CbbW8n6Up6US50GES ﬂ
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Find the average ra .f change of a function 1 G

Fin- .ne average rate of chan of Al st Jaea ' gia dagl

.ne function f(x) = 3

x4 [-6,2] 5 f(x) ==
on the interval [—6, 2].

_% 0

b _% O

= ®

g _2_"6 O
https://t.me/+CbbW8n6Up6U50GES ﬂ
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Evaluate and graph ~ erse trigonometric functions 1 G
Fir (he value of the express. .i: P yam? aadd dagl
: 3 - esin (=3
arcsin (—32—) ' .csm( 2 )
T
3 ——
> O
T e
D, —
4
T
¢ —— @)
3
T
| =
6 O

https://t.me/+CbbW8n6Up6US50GES
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Solve right triangle G

Supp e a competitor in the 0o dabidls galad) g A Wlda of 2
swimming .ortion of the race is Syl el el P e O 4de )
swimr .g along the course shown. Jeadd badiall lgasew of a A ddlaal
Find the dic .unce the competitor must el )

swim to each the shore.

https://t.gne/+CbbW8n6Up6USOGES o ﬂ
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"

a2 X=83.3m

e x=112.1m

¢ X=109.9m

¢ x=55.7m
https://t.me/+CbbW8n6Up6US0GES
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#ed*x BONUS ***** I gn statistical studies 1

Res .chersgiveonegroupan . cold I ¢ g3 Gle ganall gaa) & o]
* .dicine and compare themtoagroup i Jsus Alds gana g ap’ 198 Mg 3yl

that takes no medicine. What is the 5 a2l e ganall e (3l 13ba 61 g9
group that is not given any medicine? )
felga ‘551

G T aw Al B 4y 2l A ganal)

the experimental group in an observ .onal study

;)_;:-n\,s&h,w‘&sw\

the cont” . group in an experiment

A (8 A 23l A garal

the experimental group in an experiment

ol du) 2 dalal) ds gaaal)

o

the cr .rol group in an observational study

https://t.me/+CbbW8n6Up6US50GES
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Describe subsets of .| numbers 1

Write ¢ of numbers
x < —lor x > 5 using interval

notation.

a (—oe0,—1) U5, e0)

(-1,5]

(=1,5)

d {—:;Cr, —1) u [5. [-'0)

https://t.me/+CbbW8n6Up6US50GES
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x> 50 x < —1 3eY £gana s
Al jay aladiuls
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Graph tangent and  .procal trigonometric functions 1 G
Wb’ , of the following is a ve cal J A acll Ly Lo Uad e Py ‘éi
.ymptote for the graph of *y=cot2x
y = cot2x?
" o
a x —
6
T
O — —
X > O
x=§ O
= 0
d X = =
3

https://t.me/+CbbW8n6Up6US50GES
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#edsk BONUS ***** 1 tify, graph, and describe parent functions 1 G

G’ .n h(x) = [x], what trans’ ..ons A Sl W ch(x) = [x] sl
occur in the graph of Adlal A" il Saad
fx)=[x-8]+2 Sf(x)=[x-8]+2

Bang 2 ' claag 8 Ll

left £ .nits, up 2 units

Glang 8 JAuY (Basg 2 maill
right 2 units, down 8 units

Clang 8 &Y Pasg 2 el

rigt £ units, up 8 units

5 2 ‘lch:l‘ 8'
” 202 e 29 8 el o

right 8 units. up 2 units

https://t.me/+CbbW8n6Up6US50GES a
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##44x BONUS ***** I | inverse functions algebraically and graphically 1 e

Whi- graph represents a funr .n )y lguagSaa dlls Jia ol Al iddll L

«at has an inverse that is also a ¢llig
function?
L WY]A
/
> > O
0 X
AR |
ALY A
\ /
\
S O
1, To X &
https:i//t-me W8n6Up6US50GES ;
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Apply the One-to-C  Property of logarithmic functions to solve equations 1 G
So' . the logarithmic equation rAaai gl Lalaall Ja
logs x +logy(x — 2) = log, 15. Jdogyx +logy(x — 2)=log, 15
¥=F5 O
b x==3 x=15 O
¢ x=-5 @)
d. x=1og5,x=1log(-3) O
https://t.me/+CbbW8n6Up6U50GES ﬂ
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Apply properties of jarithms 1 e

Sir .y expression adll Jaly

3Ine* — 2Ine?. 3Ins* — 2lne?
= Ine? O
. 8 O
6 O
¢ Ine* (0

m
https://t.me/+CbbW8n6Up6US50GES .
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Use angle measure-  solve real-world problems 1 G

The .ea of a sector of a circle wldg A = 29 cm? S g 2 dalua
= 29 cm? and the measure of its Bl jhd Ciual aagl .0 = 68 85Sie gl
central angle is 8 = 68’. Find the

radius of the circle.

“ r ~ 98 cm O

b r~7cm O

r ~49cm O

d r=14cm O
https://t.me/+CbbW8n6Up6US50GES ﬂ
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Evaluate, analyze, » graph exponential functions 1 G
Wb’ . is the range of the fun- on tg(x) = 67F D 5r _ulaa
g(x)=67*?
a (0,w) O
. (o0,1] O
¢ (=o,0] O
d (-—(A), 00) O
https://t.me/+CbbW8n6Up6U50GES ﬂ
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Identify and evalua’ unctions and state their domains 1 G
Find f(10) for Gus f(10) das 2
-4x+3  if x<3 —4x+3 s x<3
3x2 -1 if x>8

3x2 -1 sy x>8

. =37 O

> 100 O

299 o

o =100 O
https://t.me/+CbbW8n6Up6U50GES8 a




